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Chaﬂter 02 FormD

MULTIPLE CHOICE

1. The position of a car is given by the values in the following table. Find the average velocity for the
time period beginning when ¢ = 2 and lasting 2 seconds.

355
47.5
39

37.5
335

o po o

ANS: D PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.6

2. If an equation of the tangent line to the curve ¥ = f{x) at the point where @ = 2 is ¥ =4x— 11, find

A2) and 7'(2)

a. AZ)=-4
flZ)=4
b. AZy=13
7@ =4
c. fidy=-4
Fld)=3
d A2y =-3
Flz)=4
e. none of these
ANS: D PTS: 1 DIF: Medium MSC: Multiple Choice

NOT: Section 2.7

3. Use the graph of the function to state the value of lin f{x), if it exists.
x—=1

x2+x

Ax)= ——
3’\Jx3+x2

s
Li— &

d. o
e. does not exist

ANS: E PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.2
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4. The slope of the tangent line to the graph of the exponential function y = 8" atthe point (EI, 1) is

2% -1
—

lirn
x—=
Estimate the slope to three decimal places.

1.293
2

2.026
1.568
2.079
2.556

Mo Qo o

ANS: E PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.8

5. Find the limit.

*sz—B

2x—0

d 0
e. does not exist

ANS: A PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.3

6. Find an equation of the tangent line to the curve y = x3 — Zx at the point [2, 4).

y=16-10x
y=10x-8
y=x-14
y=10x+ 14
none of these

c a0 op

ANS: E PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.7

(3sin x)
(om ) State your answer

7. Estimate the value of the following limit by graphing the function fx) =

correct to two decimal places.

Foinox

i mX

r—=0



10.

3.00
3.14
0.95
0.64
—3.14
—6.25

ANS: C PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.2

mo Qo o

L2
| |

m  Ax),  lm A

=17 =1

Let Ax) =

Find the following limits.

both 2

2 and 1
2 and -2
2 and —1
both 1

ANS: C PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.6

o0 o

Use continuity to evaluate the limit.

im  sinfx+4smnx)
T — 137

13x
-1
0

(e8]

1

ANS: C PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.5

C R0 o

If g{x) = ~/3- 5x, find the defination of derivative to find g'(x).

Y g =2 (-5l
* g =1 (3-5)1"
g'(x) = —(3-5)°

d.

‘ 5 -
g'(x)=-3(3-5%)7
e. none of these

ANS: A PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.2



11. For what value of the constant c is the function f continuous on (—m, mj ?

cx+ T for x=2

Ax) =
ext =5 for x>2
a. g¢=1
b. =2
C. ¢=46f
d c=-2
e =7
ANS: C PTS: 1 DIF: Medium MSC: Multiple Choice

NOT: Section 2.7

12. How would you define f4} in order to make f continuous at 4?

o o6 o
=
N
Il
-1

none of these

ANS: C PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.7

13. Use the graph of the function to state the value of lun fTa), if it exists.

|
Ax) = —
14417

a. 0
b. 1

5
c. 1
d. o
e. does not exist
ANS: E PTS: 1 DIF: Medium MSC: Multiple Choice

NOT: Section 2.2

14, If 2x- 1 <A £ x5 find  lim 7%,
x—=1



15.

16.

17.

18.

o o0
wm W o

ANS: A PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.3

Find an equation of the tangent line to the parabola y = 3x2 at the point (—3, 27).

-18
81
27
=3
18

ANS: A PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.7

o po o

The cost (in dollars) of producing x units of a certain commodity is iz} = 4,280+ 13x + I].I]Exz. Find

the average rate of change with respect to x when the production level is changed from
x=102%0x =118

29.6
19.6
18.6
26.6
24.6

oCRo o

ANS: B PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.7

Find the limit.

2
fim P+

:emr3+:2—1

opo0 o
|
[N ]

ANS: B PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.3

If a ball is thrown into the air with a velocity of 58 ft/s, its height (in feet) after ¢ seconds is given by

A= 58— 16!2. Find the velocity when & = 4.

58 ft/s
=70 ft/s
70 ft/s
—58 ft/s

ao o
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e. —56ft/s

ANS: B PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.1

2
19. Is there a number a such that  lim b +ax+a+? exists? If so, find the value of a and the value

r—=-3 x2+x—ﬁ

of the limit.

¢ = 14, limit equals 1.4
¢ = 17, limit equals 1.6
¢ = 28, limit equals 1.4
¢ = 28, limit equals 1.6
¢ = 14, limit equals 1.6

ANS: D PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.3

e S

20. Evaluate the limit, if it exists.

3
o (x-k3-x
fim i

h—=1

1
=3

3x2

a oo

—3x2
e. does not exist

ANS: D PTS: 1 DIF: Medium MSC: Multiple Choice
NOT: Section 2.3
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